7 WA WA TR B iR

A EREE VL, KB

(Bl
2ax*-10ax+30a
(1) 5z*+4 15z 410
= 2a(x’~5c+15) = 5(z? + 3z +2)

= 2a(x-3)(x-5) 5(z +2)(z +1)

B @ & LTFICE & bz TR R

(o)
(@=Dy—(-1) : 2
= Ay-A M (@+b)+7(a+d)+12
= A2+ 7A 112
- Ay - (A+3) <A+4)
= @-D(y-1)
- (a+b+3)(a+b+4)

TV ANET — X (youtube®H)H)

MDA RNEBGE (20D 2 —v) ]

16a* — 100>
4(4a® — 25b%)
4(2a + 5b) (2a — 5b)

w<y+ 1) —5(y+1)
zA — 5A
A(z —5)

1)




RD(1)~(4)DXED THEICOWT, IEL WD DICFO, fio T2 b DI THEICH TIFE 5

ELWHZEZ BRIV,

(1)

2 +(a+b)z +ab EIRNBET 2 L, (z+a)(z+b) LTxD,

(z+a)(z—a) ZEFMT 2L, 22 +a® LD,

(z+a) BT 2L, a?+az+a® L5,

22 — 2ax + a® ZRENRT B L, (z—2a)° LB,

RO % KRB L 72 3 v,

322 — 6z — 24 (2) z(z —3)-28 (3) —5z%+ 45z — 100
(a+ b)*=5(a+D) (6) (z—1)(z—4)-10 (6) zy—y—2z+2
(z -1y —(z-1) ®) (z+2)° —3(z +2)—4 9) (z+6)° —(z—4)*

z? — 4wy — 2z +4y +4y*> -3



